HEHENRUA DR

BM4FCHR 1BIR7E

s AD g O
HHE = 7 = MBDC [GED |BBoC |EED
5 oLt Bt |ol |BED
X 7 14,837 14,245 15,805 30,050 11| 206| 27| -s21
B W 1,477 1,601 1667 3.268 > 5 5| -a1
€ L5 1,342 1,599 1,574 3,173 - 2 3 47
2 8 B 1,609 1,748 1,910 3,658 0 7 -6 -5
- 430 631 643 1,274 3 > 1 33
> 1,231 1,355 1,375 2730 1| o3 o| -78
o2 1,058 1,143 1,213 2,356 4| 18 S| 73
T 498 422 463 885 6 5 4| o5
n A 133 132 127 259 0 3 ol -11
i) = 131 119 135 254 -2 -7 -3 42
I} 325 333 314 647 1 s 1 o6
5t 23071 23,328 25206 48554 11| 265| -53|-1.058
BB DD 23,060 23,356 25,251 48607
BADEDL 11 28 25 53
AERB D 23,336 23,948 25,864 49812
BERIB E DL, -265 -620 -638 -1,258
BIREBBDH 23,522 24,504 26,484 50,988
BIREBBEDL -451 1176 -1.258 D434
RE1B1BIRENS | 23,163 23697 25577 49274
151 B 1 BIRE S DL 92 -369 -351 ~720
BIAESBPORENANR
2 g EROEE
HaE 6 10 16 E3 g
BT 30 37 67 HeE 6 10 16
BRIEE 24 27 -51 A 48 31 79
A 48 31 79 BETHZ 0 0 0
i 52 29 81 (P 54 41 95
HEIET -4 2 -2 BT 30 37 67
e HS 0 0 0 e 52 29 81
BESRS 0 0 0 TSHE IR 0 0 0
DB (0] (0] 0] 5t (= 82 66 148
KEEEt 08 05 -53 1EFEs| 28 25 53
ST4E1 81 BN S58KBETOR
HE BT BRI
85 408 ~323 e i
A | BERES | Gd |BEERs|dsme (tomE) Bt 720
689 3 1,089 0 “397

HIDORE, EREREBIRICEDVDTEHLIZEDTY,
XEM24F8 A1ARALBOHTEHREVCAOBEICE, FRERXSRICERSNTOINEAERIEEN

FY. (ER24F7 A1 BREUAOEFHRVAOBEICE. ABAMERFEFTNEEA,)




